
Note: the best way to study for the tests is to:

-Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

Then, leave the notes aside and answer the weekly questions (I do not value answers that are transcriptions of the lecture notes). If you do this, you’ll have to study much less before for the tests. 
Reserve some hours (perhaps 4) every week to answer the questions. Students who choose not to answer the weekly questions seldom pass the course.
The answers of L9’s questions should be handed to me next Monday. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.
Please write ‘LECTURE 9’ in bold at the beginning of your answers.





LECTURE 9
L9: The paradox of thrift + secular stagnation

1. Suppose that saving in a closed economy is initially = 0. If all people afterwards decide to save a share of their income, that will not be enough for an increase in consumption possibilities between today and tomorrow. Why?

2. Suppose that saving in a closed economy is initially = 0. If all people afterwards decide to save a share of their income, what would have to happen for there to be an increase in consumption possibilities between today and tomorrow will take place? Explain
3. Suppose that saving in a closed economy is initially = 0. If all people afterwards decide to save a share of their income, what will in the real-world happen to output, unemployment, income and saving?  Explain.
b) If people are saving a greater share of their income, why doesn’t saving increase?

c) C will fall today. Why? Will it rise tomorrow? Why?
4. As long as S > I, AD falls from one month to the next. Why?

5. Why has Japanese private investment been so low over the past 20-odd years?

6. a) What has been the interest rate of the BoJ over the past 20-odd years?

b) Without fiscal policy, what would have happened to the Japanese GDP? Explain.

7. a) Despite private investment permanently below private saving over the past 20-odd years, Japan’s economy has remained near full-employment. What made this possible? Explain.

b) Without fiscal policy, what would have been the current stock of Japanese private savings compared with its actual stock? Explain.

8. For a given level of government expenditures and interest rates:

a) What is the effect of a greater share of retired people in the total population on the level of full-employment output? Explain.
b) What is the effect of a greater share of retired people in the total population on the level of AD and thus on the level of actual output? Explain.
c) Explain how FE can be maintain in that case.
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